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1. Introduction

Mizuho Station (formerly Mizuho Camp; officially reﬁamed
Mizuho Station in March 1978) was established in July 1970, at
the elevation of 2230 m. The international index number 89544
for meteorological station was given from WMO in October 1977.
Surface meteorological observations have been done intermittently
between July 1970 and March 1976 and continuously after April
1976.

The data were published in the Japanese Antarctic Research
Expedition (JARE) Data Reports (Meteordlogy) Nos. 25, 30, 40, 47,
52, 57 and 65.

The present report contains the surface synoptic data in
1981 taken mainly by the members of JARE-22., Observers were; S.
Kobayashi (JARE—ZI)(January\ 1-12), M. Sato (January 13-19,
October 1-25), H. Nishimura (Jahuary 20 - March 5, March 28 - May
23), J. Inoue (February 22 - August 31), K. Satow (February 22 -
March 5, March 28 - August 31), K. Sakuma (September 1 - October

31), R. Sakai (October .26 - November 26), M. Tezuka (November 27



- December 11), D. Nakajima (December 12-18), K. Mabuchi (Decem-
ber 19-31}).

Surface synoptic reports (FM11-C-SYNOP) at 12 GMT (1500 LT)
have been sent to World Meteorological Center (Melbourne) through

Syowa Station (Index number 89532).

- 2. Instruments and Methods

Wind direction and speed" (SFminute ‘mean), atmospheric
pressure and air temperature were recorded continuously. Clouds,
visibility and weather phenomena were observed visually at 0900
LT, 1500 LT and 2100 LT (45°E LMT, GMT+3h).

1) Wind direction and wind speed

Windmill type anemometer with a wind vane was installer at
the height of 7.0 m above the snow surface. The wind speed was
obtained as instantaneous and 10-minute mean values. Accuracies
of wind speed is less than 0.5 m/s below 10 m/s and less than 5 %
above 10 m/s, and of wind direction is #5°.

2) Atmospheric pressure

Precision aneroid barometer was set inside the observatory.
Its accuracy is *1 mb. This barometer was adjusted so as to show
the same value as the aneroid barometer in the old system.
| 3) Air temperature

A platinum resistance thermometer was placed inside a
radiation shelter at the height of 1.5 m. Accuracy of this
thermometer is *0.5°C. The maximum and minimum temperatures for
a day were taken from the period of 0-24 h.

4) Visibility, clouds and weather phenomena



Visibility was observed visually by using a series of fuel
drums set at the distance of 2 km. Amount of cloud was observed
visually. Genus of cloud and weather phenomena were observed
visually accordiﬁg to the WMO. Standards. The three items listed
here were observed only three times a day at 0900 LT, 1500 LT and
2100 LT (45°E LMT, GMT+3h).

The meteorological elements (1)-(3) were recorded

continuously on a pen recorder and a dotting recorder.

3. Notations in Tables and Figure
1) Tables 1, 2»and Figure 1
Pst Monthly mean pressure at station level
Pst Daily mean pressure at station level

(Average of 3-hourly values)

T Monthly mean air temperature

Tm Daily mean air temperature
(Average.of 3-hourly values)

Tx Daily maximum air temperature

Tn Daily minimum air temperature

Tx Monthly mean of Tx

Tn Monthly mean of Tn

Txx Extreme value of Tx

Tnn Extreme value of Tn

\ Monthly mean wind speed

Vm Daily mean wind speed
(Average of 3-hourly values)

vx Daily maximum wind speed

N Daily mean amount of cloud (1/10)



Vxx Monthly maximum wind speed
2) Table 3 *
LT Local standard time (45°E LMT, GMT+3h)
PPP(PST) Pressure at station level
TT Air temperature
DD Wind direction in 16 directions (N 16, E
04, etc.; when the wind speed is less
than 0.5 m/s: 00) |
vv Wind speed (lO-mingte mean) -
v Visibility
N Amount of cloud (1/10)
CL'CM’CH Genus of cloud (WMO code)
WW Present weather (WMO code)
A - Characteristic of pressure tendency (WMO
code)
PP Amount of pressure tendency (WMO code)
'3) symbols of Phenomena
| @® | Rain 4 | Hoar-frost
»* Snow Y Air hoar
% | Rainand snow mixed | V | Soft rime
s .| Drizzle @U | Solar and lunar halo
A | Ice pellet euw 503:2’;0?";‘1 lunar
¥ | Snow pellet Irisation
5 | Snow grains § Twilight colours
— Ice prisms = Fog
4 | Drifting snow = | Ice fog
+ | Blowing snow == Shallow fog
« | Snow storm = | Mist




a)

b)

c)

|X| : Phenomenon does not exist at the station,
but is within sight.
Suffix 0, 1 and 2 means that the intensity of

the phenomena is slight, moderate and heavy

respectively.

'vxsx: This symbol shows that the visibility is

less than x km.
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